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Bl ROFFRAE LRIV,
(1) S5x (x+2y)

(2) (3x=5y) x(=3y)




X X

FIE1 WROFHEZLARZN,
(1) 5x (x+2y) =

(2) (31‘—5'1.-')x(—3'1_.-) =

fIRE2  ROGEHFA LIRS0y,
(1) 2x (3x-4y)

(2) (-4a + 3b) x 3b =

X X
FlE1 ROFHRZ LS
(1) Sx (x+2y) = 5x xx + 5x =2y

= 5x% + 10xy
(2) (3x-5y)x=x(-3y) =3x = (=3y) - 5y x (=3y)
= -9xy + 157
FlE2 ROFHRZ LREU,
(1) 2x (3x-4y) = 2x x 3x + 2x x (-4y)
= 6x° - 8xy
(2) (-4a + 3b) x 3b = (-4a) x 3b + 3b x 3b
= -12ab + 9b°




BIRES RO FHHEAZLIRE,
(1) (6a° + 4a®) +a

1
(2) (2a’b - 3ab) = ?b:

a B ab 2
—ab = — —
2 2 ab
2xv a1
Y = =y
2y

B3 ROFEEZLREN,
(1) (6a°’ + 4a®) +a =

=l

(2) (2a’b - 3ab) + b=
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(1) (6a° + 4a°) +a = (6a° + 4a’) x —
a

3 1 2 1
6a” x — + 4ag” x —
a a

6a’ + 4a

(2) (2a’b - 3ab) + %b = (2a°bh - 3ab) x %

= 2a°h x — - 3ab x —
a x b a X b
= 44’ - 6a

(1) -3a(2a -b-1)

1 2
(2) -2a (Eb - 4ab - EG’)




(3) (10x% - 5x) = (-5x)

(4) (x%y - 3xy) + —x

=3 )




